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c=l;

Sor j=20:-1:1
B=[[;
fori=I:17
im = imread(strcat(strcat("'samples\',num2str(i),”/,num2str(i), '--',strcat(num2str(j), .jpg')));
bin=im2bw(im,.7);
b=im2col(bin,[30 20],'distinct’);
B=[B b];
end;
C=[CB];

end;

G=eye(17);

net = newff(minmax(C),[17 17],{'logsig’ 'logsig'}, 'traingdx');
net LW{2,1} = net. LW{2,1}*0.01;
net.b{2} = net.b{2}*0.001;

net.performFcn = 'sse'; % Sum-Squared Error performance function
net.trainParam.goal = 0.0001; % Sum-squared error goal.
net.trainParam.show = 20; % Frequency of progress displays (in epochs).
net.trainParam.epochs = 5000; % Maximum number of epochs to train.
net.trainParam.mc = 0.95; % Momentum constant.

el=C(:,1:17);
e2=C(:,18:34);
e3=C(:,35:51);
e4=C(:,52:68);
e5=C(:,69:85);
e6=C(:,86:102);
e7=C(:,103:119);
e8=C(:,120:136);
e9=C(:,137:153);
el0=C(:,154:170);
ell1=C(:,171:187);
el2=C(:,188:204);
el3=C(:,205:221);
el4=C(:,222:238);
el5=C(:,239:255);
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el6=C(:,256:272);
el 7=C(:,273:289);
el8=C(:,290:306);
el19=C(:,307:323);
e20=C(:,324:340);
% e21=C(:,201:210);
% e22=C(:,211:220);
% €23=C(:,221:230);
% e24=C(:,231:240);
% e25=C(:,241:250);
% €26=C(:,251:260);
% e27=C(:,261:270);
% e28=C(:,271:280);
% e29=C(:,281:290);
% e30=C(:,291:300);

[net,tr] = train(net,el,G);
[net,tr] = train(net,e2,G);
[net,tr] = train(net,e3,G);
[nettr] = train(net,e4,G);
[nettr] = train(net,e5,G);
[net,tr] = train(net,e6,G);
[net,tr] = train(net,e7,G);
[net,tr] = train(net,e8,G);
[net,tr] = train(net,e9,G);
[net,tr] = train(net,el0,G);
[net,tr] = train(net,el 1,G);
[net,tr] = train(net,el2,G);
[net,tr] = train(net,el3,G);
[net,tr] = train(net,el4,G);
[net,tr] = train(net,el 5,G);
[net,tr] = train(net,el6,G);
[net,tr] = train(net,el7,G);
[net,tr] = train(net,el8,G);
[net,tr] = train(net,el9,G);
[net,tr] = train(net,e20,G);

% [net,tr] = train(net,e21,G);
% [net,tr] = train(net,e22,G);
% [net,tr] = train(net,e23,G);
% [nettr] = train(net,e24,G);
% [nettr] = train(net,e25,G);
% [net,tr] = train(net,e26,G);
% [net,tr] = train(net,e27,G);
% [net,tr] = train(net,e28,G);
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% [net,tr] = train(net,e29,G);
% [nettr] = train(net,e30,G);

A = sim(net,C);
A

C=ll;

for j=1:20
B=(];
fori=I:17
im = imread(strcat(strcat('samples\',num2str(i),”/,num2str(i), '--',strcat(num2str(j), .jpg"))));
bin=im2bw(im,.7);
b=im2col(bin,[30 20],'distinct’);
B=[B b];
end;
C=[C,B];

end;

el=C(:,1:17);
e2=C(:,18:34);
e3=C(:,35:51);
e4=C(:,52:68);
e5=C(:,69:85);
e6=C(:,86:102);
e7=C(:,103:119);
e8=C(:,120:136);
e9=C(:,137:153);
el0=C(:,154:170);
ellI=C(:,171:187);
el2=C(:,188:204);
el3=C(:,205:221);
el4=C(:,222:238);
el5=C(:,239:255);
el6=C(:,256:272);
el 7=C(:,273:289);
el8=C(:,290:306);
el19=C(:,307:323);
e20=C(:,324:340);

% e21=C(:,201:210);
% e22=C(:,211:220);
% €23=C(:,221:230);
% e24=C(:,231:240);
% e25=C(:,241:250);
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% e26=C(:,251:260);
% e27=C(:,261:270);
% e28=C(:,271:280);
% e29=C(:,281:290);
% e30=C(:,291:300);

[net,tr] = train(net,el,G);
[nettr] = train(net,e2,G);
[nettr] = train(net,e3,G);
[net,tr] = train(net,e4,G);
[net,tr] = train(net,e5,G);
[nettr] = train(net,e6,G);
[net,tr] = train(net,e7,G);
[net,tr] = train(net,e8,G);
[net,tr] = train(net,e9,G);
[net,tr] = train(net,el0,G);
[net,tr] = train(net,el 1,G);
[net,tr] = train(net,el2,G);
[net,tr] = train(net,el3,G);
[net,tr] = train(net,el4,G);
[net,tr] = train(net,el5,G);
[net,tr] = train(net,el6,G);
[net,tr] = train(net,el7,G);
[net,tr] = train(net,el8,G);
[nettr] = train(net,el9,G);
[net,tr] = train(net,e20,G);

% [net,tr] = train(net,e21,G);
% [net,tr] = train(net,e22,G);
% [net,tr] = train(net,e23,G);
% [net,tr] = train(net,e24,G);
% [net,tr] = train(net,e25,G);
% [net,tr] = train(net,e26,G);
% [net,tr] = train(net,e27,G);
% [net,tr] = train(net,e28,G);
% [net,tr] = train(net,e29,G);
% [net,tr] = train(net,e30,G);

A = sim(net,C);
A




I o ot 40l 9

function go(IM);

% H = fspecial('unsharp’);

% I = imfilter(IM,H, 'replicate’);
G =rgb2gray(IM);
E=edge(G,'sobel’);
D=imdilate(E,strel("diamond’,1));
%imshow(D);

%pause;

L=imfill(D,'holes’);

%imshow(L);

%pause;

stat =
regionprops(bwlabel(L),'Area','Extent','BoundingBox','Image’,'Orientation’,'Centroid’);

depth = -1;
fori=1:length([stat.Area] )
if stat(i). BoundingBox(2) >= depth & & stat(i). Extent >= 0.82 & & stat(i).Area > 6500

depth = stat(i). BoundingBox(2);
end;
end;
% finding the components which are at the depth "depth":
r=[;
fori=1: length([stat.Area])
if stat(i). BoundingBox(2) == depth & & stat(i). Extent >= (.82 & & stat(i).Area > 6500
r = [r stat(i).Areal;
end;
end;

if(length(r) == 0)
index = (find([stat. Area] == max([stat.Areal)));
else
% otherwise, taking the candidate with maximum area from the
% filtered candidates:
index = (find([stat. Area] == max(r)));
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out=stat(index).Image;

%imshow(out);
%pause;

x1 = floor(stat(index). BoundingBox(1));
x2 = ceil(stat(index). BoundingBox(3));
vyl = ceil(stat(index). BoundingBox(2));
y2 = ceil(stat(index). BoundingBox(4));

% mx = ceil((x2 - x1)/2) +x1;

% my = ceil((yl - y2)/2) +yl;

%

% dx = mx - stat(index).Centroid(1);
% dy = my - stat(index).Centroid(2);
%

% x2 =x2 - ceil(dx/2);

% x1 =x1 + ceil(dx/2);

% y2 =y2 - ceil(dy/2);

% y1 =yl + ceil(dy/2);

im2=imcrop(IM(:,:,:),[x1,y1,x2,y2]);
G2=imcrop(G(:,:),[x1,y1,x2,y2]);

%imshow(im2);
%pause;
%imshow(G2);
%pause;

g=rgb2gray(im2);
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g =imadjust(g, stretchlim(g), [0 1]);
g=im2double(g);
thre = opthr(g);
if (thre < 0.44 && thre > 0.36)
threl = 0.5%thre;
else
if (thre < 0.36 | thre > 0.5)
threl = thre;
else
threl = 0.92*thre;
end;
end;

bw2=im2bw(g,threl);

%imshow(bw2);
%pause;

angle = 0;

if abs(stat(index).Orientation) >=1
out=imrotate(out,-stat(index).Orientation);
bw2=imrotate(bw2,-stat(index).Orientation);
angle = stat(index). Orientation;

end;

bw2=imdilate(bw2,strel('line’,1,0));

%imshow(bw2);
%pause;

bw22=imfill(bw2,’holes");
%imshow(bw22);
%pause;

bw2 =xor(bw22, bw2);
%imshow(bw2);

%pause;
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% v=sum(bw2);

% h=sum(bw2');

% bw2 = cut_ bw_img(bw2, 1.1*mean(v), 0);
% bw2 = cut_ bw_img(bw2, mean(h), 1);

%

% plot(v);

% %pause;

% plot(h);

% %pause;

% indexmax = (find([stat. Area] == max([stat. Areal)));
% maxarea =[stat(index).Area];
%BW=bwareaopen(L,maxarea);

bw3 =bw2;

%bw3=imfill(bw3,'holes’);

% %imshow(bw3);
% %pause;

bw3=bwareaopen(bw3,50);

%imshow(bw3);
%pause;

stat = regionprops(bwlabel(bw3),'Area’);
index1 = (find([stat. Area] == max([stat. Area])));
maxarea =[stat(indexl).Areal;

bw4=bwareaopen(bw3,maxarea(l,1));
if (maxarea - mean([stat.Areal)) >= 15.7*mean([stat. Area])
bw3 =bw3 - bw4;
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q=1;

else
bw4=bwareaopen(bw3,2280);
bw3 =bw3 - bw4;
q=20;
end;

v=sum(bw3);

h=sum(bw3’);

bw3 = cut_bw_img(bw3, 0.8 *mean(v), 0);

bw3 = cut_bw_img(bw3, 0.8 *mean(h), 1);
%imshow(bw3);

%pause;

% stat = regionprops(bwlabel(bw3),'Area’);

%

% indexl = (find([stat.Area] == max([stat.Area])));
%

% maxarea =[stat(indexl).Areal;

% bw4=bwareaopen(bw3,maxarea);

% if (maxarea - mean([stat.Areaf)) >= 20*mean([stat.Areaj)
% bw3=bw3-bwd;

% end;

% bw3=bwareaopen(bw3,30);
% bw3=imcomplement(bw3);

% bw3=bwareaopen(bw3,6000);
% bw3=imcomplement(bw3);

% %imshow(bw3);

% %pause;

seg=character _segmentation(bw3);

load net.mat;
num = [[;
fori=I1:8
if i~=3
ex=bw3(:,seg(i,1):seg(i,2));
stat =regionprops(bwlabel(ex),'Image’,'Area’,’BoundingBox"');
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for j=1: length([stat.Area])
if [stat(j). Area] == max([stat.Area])

% [hi wi] = size(ex);

%im = imcrop(ex,[stat(j). BoundingBox(1) stat(j). BoundingBox(2) abs( wi -
stat(j). BoundingBox(1) ) abs( hi - stat(j). BoundingBox(2) )]) ;

im = stat(j).Image;

end;
end;

else
im=im2bw(bw3(:,seg(2,2)+13:-13+seg(4,1)),0.5);
im(1:5,:)=zeros(5,(seg(4,1)-seg(2,2)-25));

end;

im = imrotate(im,0.85%angle);
im=imresize(im,[30 20}, bilinear’);
imshow(im);

%imwrite(im,strcat("im2\',num2str(rand()),'.jpg’));
vec = double(im2col(im, [30 20], 'distinct’));

rslt = my_sim(net, vec);
[V 1] = max(rsl);

digit = char("0'+1);

%title(digit);

ifI==10
digit='B’';

end;

if1=—=11
digit='D’;

end;

ifr1==12
digit = 'EIN’;




end;
ifl==14
digit ="'M";

digit = 'SIN';
end;
ifl==16
digit="V";
end;
if1=—=17
digit = 'SAD’;
end;

num = [num digit|;
pause;
num = input('prompt','s’)
som = input('prompt’)
imwrite(im,strcat('samples\',num,"\"\num,'--",num?2str(som),'.jpg’));

end;

imshow(bw3);
title(num);

return;

slac) AuSa3 asbyp

function [seg| = character_segmentation(bw);

DIGIT WIDTH = 46;
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MIN _AREA = 210;

seg = segment(bw, DIGIT WIDTH, MIN AREA);
[x y] = size(seg);

ifx<8
fori=1:x
bw(:,seg(i,2))=0;
end;
seg = segment(bw, DIGIT WIDTH, MIN AREA);
end;

area = [];

fori=1:x
pic =bw(:, seg(i,1) : seg(i,2), :);
area(i) = bwarea(pic);

end;

areal = sort(area);
seg =seg';

for j = 1:(length(areal)-8)
i = find(area == areal(j));
len = length(area);
ifi==
area = [area(2:len)];
seg = [seg(:,2:len)];
elseif i == len

area = [area(1:i-1)];
seg = [seg(:,1:i-1)];
else
area = [area(1:i-1) area(i+1:len)];
seg = [seg(:,1:i-1) seg(:,i+1:len)];
end;
end;
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seg = seg';
return;

% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
% % % % % % % % % % % % % % % % % % % % % % % % % % % %
function [segmentation] = segment(im, digit_width, min_area);

segmentation = [[;

t =sum(im);

seg = clean(find valleys(t, 2, 1, digit_width), 3);

=1
fori=1: (length(seg) - 1)
band width = seg(i+1) - seg(i);
maxi = max(t(1, seg(i):seg(i+1)));
if(maxi * band_width > min_area)
segmentation(j, 1) = seg(i);
segmentation(j, 2) = seg(i+1);
j=itl;
end;
end;

return;

% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
% % % % % % % % % % % % % % % % % % % % % % % % % % % %
function [s] = find_valleys(t, val, offset, digit width);
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s = find(t <val);

function again.

if(length(s) <2)
s = find_valleys(t, val + 1, offset, digit width);
return;

end;

% If no point is found terminating:
if length(s) ==

return;

end;

ift(t(1,1) >=val) && s(1) ~=1)
s=[1s];

end;

if((t(1, length(t)) >=val) && s(length(s)) ~= length(t))
s = [s length(1)];

end;

s = add(s, offset - 1);

s = clean(s, 3);

while bad_segm(s, digit_width) ==
fori=1: (length(s) - 1)
if (s@+ 1) - s(i)) > digit width

sub _vec =t(1, s(i) - offset + 1 : s(i+1) - offset + 1);

s =[s(1 : i) find_valleys(sub_vec, val + 1, s(i), digit_width) s(i+1 : length(s))];
end;
end;
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end;

return;

% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %6 % % % % % % % % %o %0 % % %
% % % % % % % % % % % % % % % % % % % % % %0 % % % % % %
function [bool] = bad_segm(s, digit width);

if length(s) ==
bool = 0;
return;
end;

tmp =s(1);
bool = 0;
fori=2:length(s)
if(s(i) - tmp) > digit width
bool = 1;
return;
end;
tmp = s(i);
end;

return;

% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
% % % % % % % % % % % % % % % % % % % % % % % % % % % %
Sfunction [t] = clean(s, val);

t=[I;
len = length(s);
i=2;
Jj=1
while i <= len
while(s(i) - s(i-1) <= val)
i=it+1;
if(i > len)
return;
end;
end;

ifj==11|| (s(i-1) - t(j-1)) > val
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1)) = s(i-1);
J=itL
end;
1) = s(i);
J=itL
i=it+1;
end;
return;

% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
% % % % % % % % % % % % % % % % % % % % % % % % % % % %
function [t] = add(s, val);

len = length(s);
t=[I;
Jori=I:len

t@i) = s@) + val;
end;

return;
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